e 2™oA x o] 27127

X

30° 70,

@ 50° @ 60° ® 70° @80° ® 90°

180° — (30° + 70°) = 180° — 100° = 80°




Al
H
de A NeE b N S, a-b O] F27

@ 25 @ 30 ® 35 @45

o121l thZtA 2] & A4S a At o, & BAA
L Z

ANA I& =

® 50

B

12(12 -
J_l22-3)
2

b=12-3=9

SLa-b=54-9=45




sholat,

=X

e A4 olA 2x 9 271

3.

60°

124°

L Lx = 64°




14 gkt

5

1) grect.

SEREERER

g

N
;!

Nfo

]

©® wAEel Yol

12 gpect.

5]

EEERCEEE

gt

of 27 AH=

nApze] ol F417He] 27]6] gul

gt

®x:




o8

oA

—_—

&
mmo
~

%o
ojn

@ Al Wze] 2717 &

Wztel a7]¢} elzte] 2717} 2t

oju
O

ol
o

7Age Yzto| 2719 917ke] 2717} thedt (i)




